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Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think is

correct, fill that bubble in front of that question number, on bubble sheet.

bubbles. Cutting or filling two or more

Use marker or pen to fill the
bubbles will result in zero mark in that question.

S.# QUESTIONS A B C D

I | Half life of uranium—-239 is: 24.5 min 25.5 min 23.5 min 26.5 min

2 | The building blocks of protons and neutrons Positron Quarks Electron Neutron
are called:

3 | If the medium between the charges is not Increase Decrease Remains Infinite
free space, then electrostatic force will: constant

4 — . AV Decreasing Increasing Increasing Magnitude
Negative sign in equation E = i shows: potential.: ntial strength

s (o

5 | Reciprocal of resistivity is called: Indugtance | Con o, Conductivity | Resi

6 | A charged particle enters in a strong creases
magnetic field its K.E: h

7 | When a charged particle is projected
perpendicular to a uniform magnetic field,
its path is:

8 | If the angular frequency of A.C generator One fourth
is doubled, the time period will be: &

9 | Split ring are used in: “Trans C generator | A.C motor

10 | Root mean square value of voltage is: A G v, 2V,

11 & T T i

2 2

12 2 2 Boron Indium Antimony

13| Which component of the trat ggr has loyk Emitter Collector Resistor
concentration of impurity? “§°¢

14 | Bolean expression for AND gate is: =2 X=4-B X=A+B

15| Compton shift for wavele; 0° 45° 270°
for scattering angle 8 =

16 | At higheren sm Compton Photoelectric Fission Pair_
the dominant effect effect process production

17 | Electron nor 10745 1075 1075 1085
for a
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INTERMEDIATE PART-II (12" Class) [ 2024 (1"-A) [ Roll No:

PHYSICS PAPER-II GROUP-II :

TIME ALLOWED: 2.40 Hours | SUBJECTIVE [ MAXIMUM MARKS: 68

NOTE: Write same question number and its parts number on answer booh as given in the question paper.
SECTION-I YW AY] ] T

2. _Attempt any eight parts. SOl T Y= ) ——2"F 8x2=16

(i) | Describe the force or forces on a positive point charge when placed between parallel plates.
() with similar and equal charges  (b) with opposite and equal charges

(i) | Do electrons tend to go to region of high potential or of low potential?

(iii) | Two opposite point charges, each of magnitude ¢ are separated by a distance 2d .
What is the electric potential at a point P mid way between them?

(iv) | Sketch the graphs for charging and discharging of a capacitor.

(v)_| How can a current loop be used to determine the presence of a magnetic field in a given region of space?

(vi) | How can you use a magnetic field to separate isotopes of chemical element?

(vii) | How can a galvanometer be converted into an ammeter? Also write down the formula to adjust the shunt
resistance,

(viii) | Define CRO and write down its principle.

(ix) | If a nucleus has half-life of 1 year, does this mean that it will be completely decayed after 2 years? Explain.

(x) | What do you understand by “background radiation”? State two sources of this radiation.

(xi) | Explain the effects of low level radiation and high level radiation.

(xii) | Explain the p-p reaction in the sun with the help of equations.

3. Attempt any eight parts. 8x2=16

(i) | Give two differences between Electromotive force and Potential difference.

(ii) | What is Open circuit and Closed circuit?

(iii) | Calculate the terminal potential difference across an external resistance when a current 0.5A flowing in & circuit.
The emf is 2V and source of emf has internal resistance 1.

(iv) | Name the device that will (a) permit flow of direct current but oppose the flow of alternatifig current
(b) permit flow of alternating current but not the direct current

(v) | How the reception of a particular radio station is selected on your radio set?

(vi) | Find the capacitance required to construct a resonance circuit of frequency 1000kHz with anlinductor of SmH.

(vii) | Define Proportional limit and Ultimate tensile strength.

(viii) | How n-type semi conductor is formed by the process of doping?

(ix) | What is the difference between Ferromagnetic and Paramagnetic substances?

(x) | What is Electronics? Write down only names of electronic devices (at least two).

(xi) | Why +ve terminal of a battery is connected with p-type and —ve tefininal with n-type region.

(xii) | Explain briefly Light emitting diode.

4. Attempt any six paris. 6%xX2=12

(i) | What is to be done in order to enhance the magnetic flux in transformer?

(ii) | Ina certain region, the earth’s magnetic field points verticallpdown. When a plane flies due north, which
wingtip is positively charged?

(i) | Four unmarked wires emerge from a transformer. /What'steps would you take to determine the turns ratio?

(iv) | State Stefen-Boltzmann law and write(its mathematical relation.

(v)__| The classical theory cannot explain the thréshold frequency of light. Why? Explain.

(vi) | If an electron and a proton have the'same de Broglie wavelength, which particle has greater speed?

(vii) | What advantages an electrdn microscope has over an optical microscope?

(viii) | How line spectra can be used for thendentification of elements? Explain,

(ix) | Explain why laser agtion®@annot oecur without population inversion between atomic levels?

SECTION-II
NOTE: Attempt any thiee questions. Ix8=24
5.(a) | Define Xerography. Draw the schematic diagram of a photocopier and explain its working. 05
(b) | How manyfeleetrons pass through an electric bulb in one minute if the 300 mA current is passing through 03
it?
G.(a) | State Ampere’slaw. Apply it to find magnetic field inside the solenoid. 05
(b) | ADIC motor operates at 240V and has a resistance of 0.5€2. When the motor is running at normal 03
speed, the armature current is 15A. Find the back emf in the armature.
7.(a) | Describe the A.C through R.C series circuit. 05
0
-‘“. - 10k
(b) Calculate the gain of non-inverting amplifier as shown in 03
given figure:
8.(@) | What is Compton effect? Derive relation for Compton shift? Also discuss it for 6=0° and 6=90° 05
03

(®) | The length of a steel wire is 1.0 m and its cross-sectional area is 0.03 x 10~ m?. Find the work done in
stretching the wire when a force of 100N is applied on it. Where ¥ = 3.0x 10" Nm™2,

9.(a) | What is Nuclear Reactor? Describe function of its main parts. 05
(®) | The wavelength of K X —ray from copper is 1.377 x 107"°m . What is the energy difference between 03
the two levels from which this transition results?
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